
CHM 241 

Problem set on addition reactions 

 

1. Give the major product of the following reactions: 

d)  

Cl Cl

H2, Pd on C

c)

CH CH2
 HBr 

a)

b)
1) BH3-THF

2) H2O2, NaOH

RO-OR

Br2 in H2O

phase transfer cat.

OH
Br

+  enant.

HO

CH2CH2Br

Cl Cl
 

e) 1) Hg(OAc)2

in H2O, THF
2) NaBH4

f)  H2

Br2g)

10% Pd on graphite

h)
 CH2I2, Zn(Cu)

i)
1) O3 in CH2Cl2

2) Zn, HOAc
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Br Br

+  enant.

O
+  CH3CHO

 
 



2. Propose a complete mechanism for the following addition reaction.  Use arrows to 

indicate electron flow, and show any intermediate carbocations. 
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3. The following carbocations can rearrange to more stable intermediates.  The cyclic 

carbocations can rearrange in two different ways.  Draw the rearranged carbocations a)-f) 

H

H

CH3

CH3

H

a)

b)

c)

d)

e)

f)

H
hydride shift

ring expansion

H

hydride shift

CH3

CH3

methide shift

H
hydride shift

H

ring contraction

hydride shift

(arrow)

(arrow)

 
 

 

 

 

 


